SBRT Rails-Only Demonstration Kit

REFERENCE GUIDE

CiIvCO






SBRT Rails-Only Demonstration Kit

English

#10-24 x1/2" for mounting
cross-bar assembly to rails

-

#10-32 x 3/4" for assembling
Interloc® cross-bar

#8-32 x 1/2" for assembling
Prodigy™ cross-bar

DISASSEMBLING RAILS-ONLY UNIT

1. Remove#10-24 x 1/2" screws (24) from mounting blocks on SBRT rail assembly.

2. Separatecross-bars fromrails.

-

Mounting Blocks
II.  SBRTRails

\.

IIl. Cross-bars
IV. Screws

ASSEMBLING INTERLOC® / PRODIGY™ CROSS-BARS

/A\ WARNING

* Using incorrect screw to attach ends could result in device damage and/or patient mistreatment.



English SBRT Rails-Only Demonstration Kit

1. Useappropriate screws to assemble cross-bar, ensure screws are in the correct locations (refer to
illustrations below).
o Interloc®: #10-32 x 3/4" screws
« Prodigy™: #8-32x1/2" screws

Interloc® Prodigy™

\ J

ASSEMBLING RAILS-ONLY UNIT

/\ WARNING

* Failure to assemble rails with proper screws or proper orientation could result in device damage
and/or patient mistreatment.

1. Ensure Towards Gantry labels on both cross-bars are aligned correctly with railindexing (refer to
illustrations below).




SBRT Rails-Only Demonstration Kit English

2. Attach desired cross-bars using #10-24 x 1/2" screws (24) into mounting blocks on SBRT rail
assembly.

s N

Mounting Blocks Ill. Cross-bars
Il. SBRT Rails IV. Screws




8] 45 7 3L SBRTS ¥ — UEREH

— =

=
#10-24 x 1/2° , AT ; #8-32x 12", A FEE
oo S T #10-32 x 3/4” , Fﬁﬂ:%gﬂ iqy™
ﬁéﬂﬁ'—t"zu:']%ﬁh |nter|0C®*§:*:F PrOdlgy *ﬁ*:F

HFHSH -NET
1. M\ SBRT SHAHMRER EEIT #10-24 x 1/2” 1842 (24),
2. \NSH EpFF#ET,.

I TR . T
Il. SBRT &%), V. 84T




SBRTS# — UETREH f&] &5 7 3T
B INTERLOC®/PRODIGY ™i# 1T

i o
= H

o WREHTEBHIIRLERZRGE , WEFHRERPA/LEETEE

1. ERASENRLKEET K BR|ELLTEBYE (SATFIFER ).

o Interloc®: #10-32 x 3/4” 1842
« Prodigy™: #8-32 x 1/2” screws

(Interloc® Prodigy™

0 %qf;;%ﬁ (& EFAYIRLZ AL IEBRY 5 A ESF S, WES TP REN/HEE

o

1. %@E’%’ﬂfﬂtﬂ’ﬂ“%wards Gantry (1% ) HEEBXESHIRS (FSATF
rEHE ).

s N




8] 45 7 3L SBRTS ¥ — UEREH

2. fEH #10-24 x 1/2" 1242 (24) FEEWHEITEZEA SBRT SHAHNEZERA,

I Z&ER . T
Il. SBRT &%), V. 84T




SBRTS ¥ — UEREH 8] 45 7 3L

FREH AKEMNS

FRRILRDE:
EW&201403555
E#&201611135

FREARERED:
EW&201403555
EM&201611135

&2 A& CIVCO Medical Solutions
ZRERLT
£ AEMHuE: 1401 8th St. SE, Orange City, 1A, 51041, United States
4= H#int: 1401 8th St. SE, Orange City, IA, 51041, United States
BB 319 2486757

ZFRAHBH: MEDTEC, Inc.
EEMERANT
£ R A EMHuk: 1401 8TH ST. S.E. Orange City, IA USA 51041
4= H#iHt: 1401 8TH ST. S.E. Orange City, IA USA 51041
BBiF: 319 2486757

REA: "MNEREFRHTERAE

KRB AGEM Mt I RAXERNKE251103E
B3%: 020-38080211

f£XE: 020-38080299

BERSUMEH: TNREEFBEMERAT
ik N R XAAEREE1085REEC028 T
E3iE: 020-38080269

BEHKE . ILHFX

ERAR . WIRE

=AM WiRZ

KM BH: iR

MR BTy EEELEE,

Ui P45 B 3 2013/6/5
VLEA 51T B H#3: 2019/3/29



Notes







CIivCO

wCIVCO RADIOTHERAPY
1407 8th Street SE
Orange City, A 51041
United States
800.842.8688, +1 712.737.8688
info@civcort.com

COPYRIGHT © 2019 ALL RIGHTS RESERVED. CIVCO, EXACT AND INTERLOC ARE REGISTERED TRADEMARKS OF CIVCO MEDICAL SOLUTIONS. LOK-BAR
AND PRODIGY ARE TRADEMARKS OF CIVCO MEDICAL SOLUTIONS. ALL OTHER TRADEMARKS ARE PROPERTY OF THEIR RESPECTIVE OWNERS. PRINTED
IN USA.

WWW.CIVCORT.COM

143-194C



	English (United States)
	Disassembling Rails-Only Unit
	Assembling Interloc® / Prodigy™ Cross-Bars
	warning
	Interloc®
	Prodigy™

	Assembling Rails-Only Unit
	warning

	中文 (中国)
	拆卸导轨 - 仅单元
	装配Interloc®/Prodigy™横杆
	警告
	Interloc®
	Prodigy™

	装配导轨 - 仅单元
	警告

	Türkçe

